
I CYP-VI No. of Printed Pages : 4 

CD 

es,1 
CD 
CD 

CERTIFICATE/ DIPLOMA PROGRAMME IN 
YOUTH AND DEVELOPMENT WORK 

Term-End Examination 

June, 2017 

Module-11 : Promoting Enterprise and 
CYP-VI : 
	 Economic Development 

Module-12 : Youth and Health 

Time : 3 hours 
	

Maximum Marks : 100 

Note : Answer any five questions; two from section A and 
section B each. The fifth question can be from any section. 
All questions carry equal marks. 

SECTION - A 
1. 	(a) Who is an entrepreneur ? 	 5+15=20 

(b) What is informal entrepreneurship ? Why 
should informal entrepreneurship be 
encouraged in India ? 

'Risk taking is vital in any enterprise'. Justify 
this statement. 	 10+10=20 
Discuss briefly the post-modern industrial 
organization. 

3. Describe in detail the various steps involved in 20 
the planning of micro-enterprises. 

4. What is a Business Plan ? Discuss the stage-by- 20 
stage process of preparing a business plan with 
the help of a suitable example. 
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SECTION - B 

5. 	(a) What should be the key elements of a Youth 
Health Policy ? 	 10+10=20 

How are Youth Development Services 
different from Youth Health Services ? 

(b) 

6. (a) Discuss in detail the various factors which 
influence participation of youth in health 
programmes. 	 10+10=20 

(b) Give ten salient dietary guidelines for 
adolescents. 

7. What are the routes by which HIV/AIDS is 20 
transmitted ? How can counselling facilitate the 
life of a patient suffering from AIDS ? 

8. What is drug abuse ? What are the common causes 20 
of drug abuse among youth in our country ? 
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